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2003 | 116603.2 | 117251.9 17092.1 61274.1 53092.9 8181.3 38885.7 6715.6 9238.1 9]
2002 | 1039353 | 1051723 16117.3 52980.2 45975.2 7005.0 36074.8 6420.3 8476.7 82
2001 95727.9 97314.8 15411.8 48750.0 42374.6 6375.4 33153.0 5968.3 7918.8 7€
2000 88254.0 89468.1 14628.2 44935.3 39047.3 5888.0 29904.6 5408.6 7316.0 7C
1999 80579.4 82067.5 14472.0 40557.8 35087.2 5470.6 27037.7 4460.3 6910.3 65
1998 76967.2 78345.2 14552.4 38619.3 33387.9 5231.4 25173.5 4121.3 6579.1 63
1997 73142.7 74462.6 14211.2 37222.7 32412.1 4810.6 23028.7 3797.2 6159.9 6C
1996 66850.5 67884.6 13844.2 33612.9 29082.6 4530.5 20427.5 3494.0 5560.3 St
1995 57494.9 58478.1 11993.0 28537.9 24718.3 3819.6 17947.2 3054.7 4932.3 4€
1994 46670.0 46759.4 9457.2 22372.2 19359.6 3012.6 14930.0 2685.9 4050.4 3€
1993 34560.5 34634.4 6882.1 16428.5 14143.8 2284.7 11323.8 2123.2 3090.7 2€
1992 26651.9 26638.1 5800.0 11699.5 10284.5 1415.0 9138.6 1681.8 2735.0 22
1991 21662.5 21617.8 5288.6 9102.2 8087.1 1015.1 7227.0 1409.7 2087.0 18
1990 18598.4 18547.9 5017.0 7717.4 6858.0 859.4 5813.5 11475 1419.7 1€
1989 16917.8 16909.2 4228.0 7278.0 6484.0 794.0 5403.2 786.0 1687.0 15
1988 14922.3 14928.3 3831.0 6587.2 5777.2 810.0 4510.1 661.0 1618.0 13
1987 11954.5 11962.5 3204.3 5251.6 4585.8 665.8 3506.6 544.9 1159.3 11
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GDP = AE( Aggregate Expenditure)
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G - GDP

TR Transfer Payment
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AE= C+|I+G+NX=Y GDP
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Consume Price Index
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GDP Deflator
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2003 101.2 100.9 101.6 99.9 102.3 104.8 102.2
2002 99.2 99 99.6 98.7 97.8 97.7 100.2
2001 100.7 100.7 100.8 99.2 98.7 99.8 100.4
2000 100.4 100.8 99.9 98.5 102.8 105.1 101.1
1999 98.6 98.7 98.5 97 97.6 96.7 99.6
1998 99.2 99.4 99 97.4 95.9 95.8 99.8
1997 102.8 103.1 102.5 100.8 99.7 101.3 101.7
1996 108.3 108.8 107.9 106.1 102.9 103.9 104
1995 117.1 116.8 117.5 114.8 114.9 1153 105.9
1994 124.1 125 1234 121.7 1195 118.2 1104
1993 114.7 116.1 113.7 113.2 124 135.1 126.6
1992 106.4 108.6 104.7 105.4 106.8 111 115.3
1991 103.4 105.1 102.3 102.9 106.2 109.1 109.5
1990 103.1 101.3 104.5 102.1 104.1 105.6 -
1989 118 116.3 1193 117.8 118.6 126.4 -
1988 118.8 120.7 117.5 118.5 115 - -
1987 107.3 108.8 106.2 107.3 107.9 - -
1986 106.5 107 106.1 106 103.8 - -
1985 109.3 111.9 107.6 108.8 108.7 - -

( —100)\ onAa B 24 1



(1985=100) (1990=100) (1991=100
2003 334.6 4794 320.2 346.7 299.3 2334 186.4
2002 330.6 475.1 315.2 347 292.6 222.7 182.4
2001 333.3 479.9 316.5 351.6 299.2 227.9 182
2000 331 476.6 314 354.4 303.1 2284 181.3
1999 329.7 472.8 314.3 359.8 294.8 2173 179.3
1998 334.4 479 319.1 370.9 302.1 224.7 180
1997 337.1 481.9 322.3 380.8 315 234.6 180.4
1996 327.9 467.4 314.4 377.8 316 231.6 177.4
1995 302.8 429.6 2914 356.1 307.1 222.9 170.6
1994 258.6 367.8 248 310.2 267.3 1934 161.1
1993 2084 294.2 201 254.9 223.7 163.6 145.9
1992 181.7 253.4 176.8 225.2 180.4 121.1 115.3
1991 170.8 233.3 168.9 213.7 168.9 109.1 100
1990 165.2 222 165.1 207.7 159 100 -
1989 160.2 219.2 157.9 203.4 152.8 96.1 -
1988 135.8 188.5 1324 172.7 - - -
1987 114.3 156.2 112.7 145.7 - - -
1986 106.5 143.6 106.1 135.8 - - -
1985 100 134.2 100 128.1 100 - -
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